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Question Please reconcile the statement made in the final paragraph of Section 3.3a, regarding BCF
reduction, with the data presented in Fig 3.1.

Notes on

question

Answer The figures in the final paragraph of section 3.3a are based on a BCF savings per year

i.e. ‘825 to 6000 cars less on the road per year'. The figures presented in figure 3.1 are
based on a BCF savings over 40 years i.e. 33,000 to 240,000 cars in 40 years. To get
the 825 and 6000 car per year figure you need to divide the forty year figures by 40.
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